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MODEL ANSWER . —
Nate: 1, Solve ANY BIGIIT questions from SECFION “A"™
2. All questions from Sectivn *B™ are campulsory.

3. All questivns carry el marks,
b Deaw neat diagrnms wherever necessury.

SECTION “A™

Q1. a). Ans: The Simpson's Rule states that “Add egether the fisst and Tnst erdinates; twice
the sum of even ordinates fuur times the sum of remaining add ordinates
multiply the l‘csuh"b)' 113 of the commen distance. ( With Diagram)]
b, Ans' Given ordinates pl =2, p2= 7, p3 = 9%, pl1 = 15, p5 = 21, gt =30, p7- 12 and
Common distance d ** 33 mtrs. )
Total Area of n Curvilinear Figure is A
Therefore, A =d i 34(plip7)+ 2 (}:21pllép(s}i-i(php.")l
A= 333{(2+412) + 2{7 1 5430) + 4(9+21)}
Therelore total area = A = 2618 Sq. miss.
.2 ) Ans: Let M/N be the frzction, amd suppose
% =log M and y = log N;
sothat  a'=h and a'=N
M/N = a'fa’ = 2"7
By definition, log MM = x-y
Hence proved  log M/N=log M= log N
b). Ans: Given N=125 a= 55 .
By definitiona' = N

(5/5) = 125

(5\1'5_]‘ -5

(5'.5'%) =5

(5" =5 Therefore x=2
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Q3. 2) Ans

b). Ans:

Q4. a). Ans:

b). Ans:

Q.5. u). Ans!

. ). Ans:

. . o ® ? -
Given Quadratic equation is ax™ bx+4c=0

and the two roots me wand 3

_hq.\‘b‘—-quc —b-\lli-ﬁlf
= TEE I B —
2u 2a
-bavbi-4ac -p-VBi-dat
a.f= l—————} { ———-“}

Henee «. ) =c/a
Given nuadratic cﬁualion is X -dx+3=0
SER-DE-1D=0

(x-3})=0or (x-1)=0

x=3arx=1

Therefore the salution of quadratic equation is {3, 1}

The theorems will be in the form of mathematical notations us {(x) and

g(x) are two functions.

1. The limit of sum of twe functions is cqual to sum of their limits.

2. "The limit of difference of two functions is cqual to difference of their
T

limits.

3. The limit of product of two functions is equal to product of their limits.

4. The limit of fraction of two functions is cqual to fraction of their limits,

Given  limy.; x:’;:_l:—:
L
REIC
5(2)* 5§
L ddx (2% =35, 2. y=xsinx
= 7 didx(x’) -3 dfdx(x’) dy/dx = x? . dfdx (sinx) -t sinx . d/fdx (x’)'
=23x7-132x dyldx = x%. cosx + sinx. 2X

= fx? - Gx

Let Bx be a small increment in X ond 8y be the corresponding increments

inu and y respectively,

"~ [ 13 -ﬁ-)—. - .‘2 'I&l'
Then x—0, du—0 we have & &l

By laking the limit us 5x—0 from both sides we have

tim 5,,_,3% lt'm&,,,,,— is exists ,finite and cquals.— and

&x

As 1 is a differentiable of function af x & v is a differcntinble function aft
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Therefore the LS. exists and Tinite, Jlesce the LILS, alsa exisls finitely.

dy dy du
Henee proved -_——=—,
" fx it dx

Q.6. &) Ans 'ropertics af Determinanl (with une cxnmplcf

ani colutnns Info rws the walue of

1. By interchanging e (ows inlo colunms

the determinnt dozsn't change.
e delenminant wre imterchanped then the

3, 10 any two tows ar columnsg of

value of the detenminant is chanped by its sign.

3. 1T any two rows or calnns of lhe determinunt are identical then falue of

(he determninant is vanishes or zero.

4., 1f anyone row or column of the determinant is multiplied by the same

factor then il should bs mulliply (o the whole determinant.

2 3 1
h). Ans: Given .-5.=|[1 1 2
~ 5 =304

a=z|ly Gl dl 5 sl ‘

A= 2{(1) = (-3x2))- 3{{0xe)- (332 TV x-3) - (5 1)}
A= dd
Given Centre (h, ¥) = (3, 0) and wdius ¢ = 7
Equation of Circle is (x - W+ (y- kY - o
(-3F 1y 0= 7

(3.7,  a)dus:

X4yl —6x-40=0
I'his is the reyquised eguation ef circle,

Given eguation of circle is =y +Ax-Gy=0

b}, Ans:
Centre of the cirele is (-p,-) Radins of the circle is ,_m
2p =4 and 2[=-6 r=2%(-33) -0
" p=2unl f=-3 =13

Iherefare centre of the circle is {-2,3) and radivs of the circle is V13

Q.5 @) Ans Given points {x(. Y1} =(1, 2) and {xz, y2} = (4, 3)

Therelore cquation of straight line passing through two points is

{y - y1) = =5 (x ~ x1)

I2-xl
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(y-2)= j{_s. (X-1& v x-3y+5=0is required eqution of s,

b).Ans: Let MP represent Rapstalfand ‘o’ be the point from which the angle o)

Elevation is taken,

Then OM = 75 yieters and £ MOP = 30° yL""j

Since PMOD is a right anple, we have

Me 1
or S WMOP = g 30" w G

MP =Hﬂ=£=’$'fj

N —3—=2s\/§=25x1.?3=-!3.25mc:m

Q9. a). Ans: Put| = =) therefore <2 = P(x), dy - 222
dx /() o
AL NP 'tx) ar e
" f“') dy = IT'm=IT= log(1) 4c = log[(f{x)] + ¢
b). Ans: I Sin(2x 4 7)dx, L4 352 +2x < 1y

—_— ., dr 1 . f
Putte2x 47 CE =2, [(lx x4 f(3x7 Yeix + [(2x)dy 4 I lex

dx =

|2

x?

1 "
= 4;_-13_.
4 E |

z?
— 4 x
« i)
=5 de Sxta ity
= (= Cosnyr2)
=- Cos(2x47) 12

Q.10. 1) Ans- Let }'[:r)dx-l-'(x)
(G TRTR Fiu)
RS w - [T reryay = [-F&)JE ~ - (Fea - FIOD = FLb) 1wy, o
From (1) and @), 1* £yt = Iy £t
bJ.A:_u: Lo (2)ax
= log2 - logl .

= log2/|= log 2

2, f;Sinx Wt
= {=Cusx)!

7 [=Cus1 4 Caso) - |
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SIECTION *IT

Q.11. Cuireet the following semence if neeessary and rewrite it

e " . ) ) i ey LT T L I —
1, The 1adius of the eircle ¥+ y* = 25 is 25, (Mnlse, Raddius r = 5)
2. 'The derivatve of 0 cunstant is 1, (False, zern)

3 The yuadratic equation has maote than 1w o rools, (False, eannat)

Far

4 Imepration nmd derivative are similar processes, (Falsey Inverse}
5 Toan 45% = |, (True)
G, ' is o loparithanic Nenction.(Fulse, ¢* s o expanentinl function)

2.7The limit of a {unction is unique. {T'rue)

8. Simpson's rule can be upplied only when cven erdinates are given. (False, (i)

-

(12, Fill i the blanks,

1L.5x"-1=Dis— ——eduation. {¢uudsatic equaltion)

2.7 The point (0« 4} is lies in ----—---—--—guadrant. (Secunil)

3. The derivative ol ugx is e L 12}

4. The loparithm of base itself is ---se—evee {Lne)

5 The equallon of v axis iz - — [z =0}
b dldx (Cus X)) = ~—=remmeeeas [= Sin 1)
7. The eondition of two lines to be parallel is ——evemsmmmee—ee (ml= u2)

B, 1f the lezight and distance is equul then the anple of elevation is ~——----- (eite)

[ ET LN T
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